Quantifier Rules







Questions yet to be answered:
1 Aristotle or the Stoics?

1 Aristotle or Boole?

1 Is Logicism true?

How do we know Stoic argument
forms are actually valid?
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Quantifiers:

(VX)
(3 x)
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PD

PD will be the name of our
derivation system for making

proofs with PL.




e

Al
By

uantifier Rules (the easy ones)

%gl.




(VX)P
U_myers_al P(a/x)
Elimination "

This means you replace the variable
(w-z) with a singular term (a-v).




For example... All philosophers are somewhat strange.
Socrates is a philosopher. So, Socrates is somewhat strange.

Derive: Ss
(Wy)(Py D Sy) (As.)

Ps (As.)
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For example... All philosophers are somewhat strange.
Socrates is a philosopher. So, Socrates is somewhat strange.

Derive: Ss
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Existential
Introduction

P(a/x)
(I x)P

N

You basically just replace the
singular term (a-v) with a quantifier
and a matching variable (w-z).




For example... Jed knows PL. So, someone knows PL.

Derive: ( 3 x)(Kxp)
1.|Kip (As)

2



For example... Jed knows PL. So, someone knows PL.

Derive: ( 3 x)(Kxp)
1.|Kip (As)

2.1(3 x)(Kxp) 13l
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Universal
Introduction

Provided that:

1. a does not occur in an open
assumption (the premises), and

2. a does not occur in (v x)P (the
target sentence).

P(a/x)

(VX)P




For example...

Derive: (W y)Fy

1.
2
3.

Fb & ~ Fc (As.)
Fb 1&E
(Vy)Fy 2 V|
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For example...

Derive: (W y)Fy

1.
2
3.

(W x)Fx (As.)
Fb 1VvE
(Vy)Fy 2 VI

TOTALLY COOL




Existential
Elimination

Provided that:

1. a does not occur in an open
assumption (the premises).

2. a does not occur in (3 x)P.

3. a does not occurin Q.

(I x)P

P(a/x)
0

0




For example...

Derive: (3 x)(Gx V Fx)

1.

(Fz)Fz & (Vy)Hy (As.)

(3 z)fz 1 &E
Fb As/ 3E
Gb V kb 3 VI
(Ix)(Gx V 4 3]
Fx)
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Read p. 474-490.
Do 10.1E #2, p. 491

(If you're brave:
Try 10.1E #1, p. 490)







